Homework for Friday 4/8:

1. You might find the example at the bottom of page 131 very helpful here.
Preliminaries:
We know that 2={0,1}

Definition: A2 be the set of functions from the set A into 2.

Example: {a,b}2 is the set of all functions from {a,b} into 2

Here are the members of A2 in a list: 

F1: {<a,1>, <b,1>}

F2: {<a,1>, <b,0>}

F3: {<a,0>, <b,1>}

F4: {<a,0>, <b,0>}

Note: You might notice a similarity here between {a,b}2 and truth tables.

Note also: You could use these functions to pick out subsets of {a,b} if you let <a,1> mean “a is in the subset”, and <a,0> mean “a is not in the subset”. Then F2 picks out the subset {a} of {a,b}. Each function is the characteristic function for a subset of {a,b}.
Question for you to answer:

Part a: What is A2 when A = {a,b,c}

Part b: Show that the power set of a set A is equinumerous to A2 by finding a 1-1 and onto function from PA to A2. Be sure to prove 1-1 and onto.

2. a. Show that  ω2 is not equinumerous to  ω. (Hint: look at the style of proof we’ve used  to show that a set is not equinumerous to ω)
b. What about the set of infinite strings of 0’s and 1’s? Is it equinumerous to ω? Justify                  your answer.

3. Do question 6 on page 138
